Trigonometric Identities (set 2)

Pythagorean identities (equivalencies based on the Pythagorean Theorem)
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The square of the cosine of theta plus the square of the sine of theta equals 1.

The next four identities are based on this one, solving first for the sine and then for the cosine.
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The square of the sine of theta equals 1 minus the square of the cosine of theta.
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The sine of theta equals the positive or negative square root of the expression, 1 minus the square of the cosine of theta.
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The square of the cosine of theta equals 1 minus the square of the sine of theta.
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The cosine of theta equals the positive or negative square root of the expression, 1 minus the square of the sine of theta.
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1 plus the square of the tangent of theta equals the square of the secant of theta.
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1 plus the square of the cotangent of theta equals the square of the cosecant of theta.
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